AAKL D 8t K OV B

T E: & BT YEBE =R - SRR HESFTER T EO O bEKLF
T F % A BMHRRRET =%
T B BB OEANS S4ELHIIRET
Bl AL & H H  Sf346H23H AL F Fa4 B4 AAL
B AL B AT 5 Pt AFLELRIREE 2 B
F EF B 4 REERT £b5< 0
T OE ¥3,872,000 | A AL FE kb Bl ¥ 3,520, 000
& K RO RS ¥3,378,100 | A KL F Fb # Al K ¥3,071, 000
£ # 4 1 %5
s ¥3, 450, 000
() LREE AL
15 1 A (1) 3,470,000
(bk) Bt T ¥3, 500, 000
=R () ¥3, 500, 000
() v = 7 15 ¥3, 510,000
() A = T3 3,520,000
LFAH
Y KL e ANFLEFLH A 5E
¥3, 450, 000
(F) bR

wEALER (10 %)
¥ 3, 795, 000




